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gpupT 01 
tpil 01 
 

1.1 
 

 

1.2 
 

 

1.3 
 

 

1.4 
 

 

1.5 
 

 

1.6 
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

njhlu;ghd fw;wy; tpisT:1.1.2 

rupahd tpil:  C 

njhlu;ghd fw;wy; tpisT : 2.2.1 
rupahd tpil : C 

njhlu;ghd fw;wy; tpisT :3.1.3 
rupahd tpil : D 

njhlu;ghd fw;wy; tpisT  : 4.1.1 

rupahd tpil : B 

njhlu;ghd fw;wy; tpisT : 4.2.3 

rupahd tpil : B 

njhlu;ghd fw;wy; tpisT  : 5.1.1 

rupahd tpil : C 
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1.7 
 

 

1.8 
 

 

1.9 
 

 

1.10 
 

 

(2 x 10 = nkhj;jk; 20 Gs;spfs;) 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

njhlu;ghd fw;wy; tpisT : 5.2.1 

rupahd tpil : C 

njhlu;ghd fw;wy; tpisT : 6.1.1 
rupahd tpil : B 

njhlu;ghd fw;wy; tpisT :7.1.1 
rupahd tpil : B 

njhlu;ghd fw;wy; tpisT : 7.2.2/7.2.3 
rupahd tpil :  A 
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tpdh 02 
 

2.1 
 

 
2.2 
         

 
 
 

njhlu;ghd fw;wy; tpisT 1.2.2 

 nra;if njhif/ msT 

(i) 

 
=                 2*500*60,000           
         40*(1- 60,000/180,000) 
 

 
 
 
 

= 1,500 nghjpfs; 

(ii) nkhj;j Ngzy; fpuaKk; mikj;jy; fpuaKk; Nrkpg;G  
= EBQ/2*Ch*(1-D/R)   + mikj;jy; xd;Wf;fhd tPjk; * 
mikj;jy;fspd; vz;zpf;if 
  
jw;Nghija epiy 
= {5000/2 *40*(1‒60,000/180,000)} + {60,000/5000 *500}= 
66,667    +  6,000 
 
 
EBQ kl;lj;jpy; 
={1,500/2 *40*(1‒60,000/180,000)} + {60,000/1500 *500} =  
20,000 + 20,000  
 
vjpu;ghu;f;fg;gl;l Nrkpg;G = &gh 72, 667 - &gh 40,000 

 
 
 
 
 

= &gh 72,667 
 
 
 
 

= &gh  40,000 
 
 

= &gh  32,667 
 

njhlu;ghd fw;wy; tpisT :1.3.1 

 nra;if njhif (&gh) 
(i) cj;juthjkspf;fg;gl;l Mff; Fiwe;j $yp  

mbg;gilf; $yp       = 100*8 kzpj;jpahyq;fs;             =  800 
+ Nkyjpf Neuk;       = 100*150%*2kzpj;jpahyq;fs; =  300 
nkhj;j njhif                                                             1,100 

 
 

&gh 1,100 

(ii) khw;Wk; fpuak; - gioa Kiwik 
nkhj;jf;$yp                                                                              = 1,100 
Nke;jiyf;fpuak;                                                                     =  1,200 
nkhj;jf;fpuak;                                                                              2,300 
 
mynfhd;Wf;fhd khw;Wk;fpuak;                                       = 2,300/50 

 
 

 
 
 

&gh  46 

(iii) khw;Wk;; fpuak; – Jz;LNtiy Kiwik 
Jz;LtPjk;     (25*60)                                                             = 1,500 
Nke;jiyf;fpuak;                                                                     = 1,200                          
nkhj;jf;fpuak;                                                                          = 2,700 
 
mynfhd;Wf;fhd khw;Wk; fpuak;                                     = 2,700/60 

 
 

 
 
 

&gh  45 
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2.3 
 

 
2.4 
 

 
2.5 
 

 

 
 

njhlu;ghd fw;wy; tpisT :2.1.1 

 nra;if 

(i) ,ilaj;jpd; epaktO 

 
 
  SEM = 30 / √225   
       
    
           = 2 epkplq;fs; 

(ii) 95% ek;gpf;if kl;lj;jpy; cz;ikahd ,il 
90 +/‒ (1.96*2) 
(90+ 3.93) - (90 ‒ 3.92) 
 93.93 -  86.08 
 

 

njhlu;ghd fw;wy; tpisT :2.4.2 

 nra;if 

(i) nghjp xd;Wf;fhd Gjpa ,yhg vy;iy 
nghjpnahd;Wf;fhd fpuak; =1,140/(1,000/40) =  (45.6) 
nghjpnahd;Wf;fhd tpw;gidtpiy= 69/115%  =   60.00             
nghjpnahd;Wf;fhd ,yhgk;                                      =   14.40 
,yhg vy;iy      14.4/60                                            =   24% 

 nghjp xd;Wf;fhd Muk;g ,yhg vy;iy 
fpNyhfpuhk; xd;Wf;fhd Muk;g tpepNahfj;ju; tpiy  = 1,140/1.2                        
                                                                                                           = 950 
nghjpnahd;Wf;fhd fpuak;        = 950/ (1,000/50)         = (47.5) 
nghjpnahd;Wf;fhd tpw;gid tpiy $l;lg;gl;ltup  
jtpu;j;J                                                      = 69/115%              =  60.00 
nghjpnahd;Wf;fhd ,yhgk;                                                    =  12.50 
,yhg vy;iy              = 12.5/60                                  = 20.83% 

(ii) fpNyhfpuhk; xd;wpw;fhd fpuaj;jpy; Muk;g ,yhg % = 12.5*20 = 250/950   =  26.31% 
fpNyhfpuhk; xd;wpw;fhd fpuaj;jpy; Gjpa ,yhg  %   = 14.4*25 = 360/1,140 =  31.58% 
cioj;j ,yhgj;jpd; khw;w % (rhjfk;)                                                             =  5.27% 

 

njhlu;ghd fw;wy; tpisT: 2.5.1 
nra;if  
vjpu;ghu;f;fg;gl;l ehshe;j Nfs;tp = 2,000*0.3 + 2,500*0.5 + 3,000 * 0.2 2,450 
nghjpnahd;Wf;fhd vjpu;ghu;f;fg;gl;l khWk;fpuak;  = 70*0.5 + 75*0.4 + 80*0.1 &gh 73 
 &gh 
tpw;gid tUkhdk;   = 2,450*120 294,000 
khWk; fpuak;               = 2,450 *73 (178,850) 
gq;fspg;G 115,150 
epiyahd fpuak;     (7,500) 
vjpu;ghu;f;fg;gl;l ehshe;j ,yhgk;   107,650 
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2.6 
 

 

2.7 
 

 
2.8 
 

njhlu;ghd fw;wy; tpisT :4.1.1 
nra;if 
10 tUlq;fspy; epiyahd itg;gpd; ngWkjp 
= 25,000,000*(1.08)3*(1.10)5*(1.12)2 

= 25,000,000*(1.259712)*(1.61051)*(1.2544) 
=&gh 63,622,502 
Njwpa,yhgk;  
= &gh 65,000,000 ‒ &gh 63,622,502 
= &gh 1,377,498 (Njwpa rhjfkhd ed;ik) 
 

 

njhlu;ghd fw;wy; tpisT :4.2.3 
 &gh kpy;ypad; 
fhR cs;Nshl;lq;fspd; ,d;iwangWkjp (&gh 20 kpy;ypad;) = 2.6900*20  53.8 
Njwpa ,d;iwa ngWkjp 16.85 
%yjd ntspNahl;lq;fspd; ,d;iwangWkjp  36.95 
fopTf;fhuzp (tUlk; 00 +  tUlk; 01)   1.8475 
tUlnkhd;Wf;fhd %yjdf;fpuak; 20 
nkhj;j %yjdf;fpuak; 
 

40 
 

 

njhlu;ghd fw;wy; tpisT :5.1.2 
epakf;fpuatpay; Kiw cgNahfj;jpd; tpku;rdq;fs;  

(i) etPd tpahghu #oYf;F ,J tiuaWf;fg;gl;lstpNyNa nghUj;jkhdjhff; fhz 
g;gLfpd;wJ. Vnddpy;> etPd tpahghu #oypy; nghUl;fspd; cldbf;  fpilg;gdTj; 
jd;ik> FWfpa tho;f;ifr; Rw;Nwhl;lk; nfhz;l cw;gj;jpg; nghUs; kw;Wk; cau; uf 
epakj;juk; vd;gd Njitahfpd;wd.   

(ii) kuG uPjpahf ,J Copa mbg;gilapyhd nraw;ghLfSlNdNa njhlu;GgLfpwJ.  
Mdhy;> jw;NghJ mNefkhd njhopw;rhiyfs; %yjd mbg;gilapyhditahff; 
fhzg;gLfpd;wd. 

(iii) epakf; fpuatpay;  mNefkhf xj;jjd;ikAila ntspaPLfspYk;> Vw;fdNtAs;s 
jpUk;gj; jpUk;g ,lk;ngWfpd;w nraw;ghLfspYNkNa jq;fpAs;sJ.  vdpDk;> etPd 
tpahghuj;jpy; mNefkhd ntspaPLfSk;> nraw;ghLfSk; jpUk;gj;jpUk;g ,lk; 
ngwhjit.    

(iv) Kuz; gFg;gha;T xU FWfpa tPr;rpDs;NsNa fpuaq;fis fUj;jpy; nfhs;fpd;wJ.  
,J juk; kw;Wk; thbf;ifahsu; jpUg;jp Nghd;w gpur;ridfspy; Nghjpa ftdk; 
nrYj;Jtjpy;iy.   

(v) epakf; fpuatpay; KiwikahdJ tpahghu #oy; epiyahdjhfTk; kpff; Fiwe;j 
stpy; khw;wj;ij Vw;Wf;nfhs;Sfpd;w epiyapYNkNa tpUj;jp nra;ag;gl;lJ.  Mdhy; 
jw;Nghija tpahghu #oy; kpfTk; tpiuthd Mw;wy; kpf;fJ. 

(vi) epakf; fpuatpay; Kiwik nraw;jpwdhdJ epakj;jpw;Nfw;g ,Ug;gpd; Vw;Wf; 
nfhs;sf;$baJ vdf;nfhs;fpwJ.  vdpDk;> ,d;iwa tpahghu #oy; njhlu;r;rpahd 
Kd;Ndw;wk; kPJ mjpf ehl;lj;ijf; nfhz;Ls;sJ.  
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2.9 
 

 

 
2.10 
 

 

 
 
 

 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 

njhlu;ghd fw;wy; tpisT :5.2.1 

$yptPjKuz; = (epaktPjk; ‒ cz;ikahdtPjk;) * cz;ikahd kzpj;jpahyq;fs;  
220,000 = (500 ‒ 480) * cz;ikahd kzpj;jpahyq;fs; 
cz;ikahd kzpj;jpahyq;fs; = 11,000 
$yp;j;jpwd; Kuz; = (epak kzpj;jpahyq;fs; ‒  cz;ikahd kzpj;jpahyq;fs;) * epak 
tPjk;  
= (13,200 ‒ 11,000)* 500 = 1,100,000 rhjfk; 

 

njhlu;ghd fw;wy; tpisT :7.4.1 
%yk; nra;if cz;ikahd 

ngWNgWfs; (&gh) 
tpw;gid tUkhdk;  = 160,000 ‒ 18,000 142,000 
tpw;gidf; fpuak;   
%yg;nghUs; fpuak; = 48,000 + 3,500 (51,500) 
$ypf;fpuak;  = 35,000 ‒ 8,000 (27,000) 
khWk; cw;gj;jp Nke;;jiy = 7,000 ‒ 900        (6,100) 
  57,400 
epiyahd fpuak;  = 15,000 + 2,500      (17,500) 
,yhgk;         39,900 
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gpupT 2 

tpil 03 
 

 
(a) 
            
(i) fUk;G  = (30*30% + 35*45% + 40*25%) =        
 vjpu;ghu;f;fg;gl;l tUkhdk; = &gh 34.75 kpy;ypad;     
 vjpu;ghu;f;fg;gl;l tUkhdk;= &gh 34.75 kpy;ypad; ‒ 27 kpy;ypad; = &gh 7.75 kpy;ypad;
     
 gUj;jp  = (30*30% + 45*45% + 40*25%) =        
 vjpu;ghu;f;fg;gl;l tUkhdk; = &gh 39.25 kpy;ypad;      
 vjpu;ghu;f;fg;gl;l ,yhgk; = &gh 39.25 kpy;ypad; – 31 kpy;ypad; = &gh 8.25 kpy;ypad;  
            
(ii) fUk;G       
 epfo;jfT (p)  x             -             -     2     -     2   
 30%   3  (4.75)   22.5625      6.77    
 45%    8   0.25      0.0625      0.03    
 25%   13   5.25   27.5625      6.89  
        50.1875   13.69    
        
 epaktpyfy;         -     2    13.69 =  &gh 3.7 kpy;ypad;                         
        
 gUj;jp      
 epfo;jfT (p)   x     -           -     2                p(x -     2   
 30%  (1) (9.25)    85.56      25.67    
 45%  14   5.75    33.06     14.88    
 25%   9   0.75      0.56      0.14    
       119.18    40.69 
        
 epaktpyfy;         -     2    40.69 =  &gh 6.38 kpy;ypad;    
    
(b) tpyfypd; ,izTf;;Fzfk; = epaktpyfy; /vjpu;ghu;f;fg;gl;l ngWkjp  
     
 fUk;G  = 3.7/7.75 =                   48%      
 gUj;jp  = 6.38/8.25 =              77.3%      
        

,izTf; Fzfk; cau;thf ,Uf;Fk;NghJ Mgj;Jk; cau;thf ,Uf;Fk;. 
Mifahy;> fUk;G cw;gj;jpahdJ Fiwthd Mgj;ijcilaJ.     
    

(nkhj;jk; 10 Gs;spfs;) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

njhlu;ghd fw;wy; tpisT : 2.3.1/2.4.2 
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tpil 04 
 

 
(a) njhopw;rhiy Nke;jiyfs; fzpg;gPL  &gh 

 cw;gj;jpg;nghUs; A = 100*25000 =                 2,500,000  

 cw;gj;jpg;nghUs;  B = 200*32500 =                 6,500,000  

 cw;gj;jpg;nghUs;  C = 300*20000 =                 6,000,000  

 nkhj;j Nke;jiyfs;             15,000,000  

 

fpua njhFjp 
 

nraw;ghl;L 
kl;lk; 

% 
fpuak; (&gh)  

fpua 
Xl;Ldh; 
(&gh) 

,ae;jpu mikj;jy;fspd; vz;zpf;if 300 40%        6,000,000  
      

20,000  

nfhs;tdTf; fl;lisfspd; vz;zpf;if 1,600 40%        6,000,000  
         

3,750  

thbf;ifahsu;fspd; vz;zpf;if 500 20%       3,000,000  
         

6,000  

 
  

    15,000,000  
 

 

 

cw;gj;jpg; nghUs; A cw;gj;jpg; nghUs; B cw;gj;jpg; nghUs;  C 

%yg;nghUs; fpuak; 
(&gh)               200                    300                            500  
$ypf;fpuak; (&gh)                 50                    100                            150  
cg nkhj;jk; (&gh)               250                    400                            650  

 
Nke;jiy cs;slf;fk;    

 cw;gj;jpg; nghUs; 
A 

cw;gj;jpg; nghUs; 
B 

cw;gj;jpg; nghUs; 
C 

,ae;jpu mikj;jy;fspd; vz;zpf;if   

nraw;ghl;L ghtid 20 80 200 
nghUj;jkhd fpuak; (&gh)        400,000          1,600,000                  4,000,000  
nfhs;tdTf; fl;lisfspd; vz;zpf;if   

nraw;ghl;L ghtid 100 500 1,000 
nghUj;jkhd fpuak; (&gh)        375,000          1,875,000                  3,750,000  
thbf;ifahsu;fspd; 
vz;zpf;if 

   

nraw;ghl;L ghtid 5 105 390 
nghUj;jkhd fpuak; (&gh)          30,000             630,000                  2,340,000  
nkhj;j Nke;jiyf; fpuak; 
(&gh) 

       805,000          4,105,000                10,090,000  

ntspaPL          25,000               32,500                       20,000  
mynfhd;Wf;fhd 
Nke;jiyf; fpuak; (&gh) 

                32                    126                            505  

mynfhd;Wf;fhd nkhj;jf; 
fpuak; (&gh) 

              282                    526                         1,155  

20% ,yhg vy;iy                 56                    105                            231  
tpw;gidtpiy (&gh)               339                    632                         1,385  

njhlu;ghd fw;wy; tpisT : 3.2.2 
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(b)   

 ABC fpuatpay; fpua elj;ijapd; jd;ikia fUj;jpy;nfhs;tjhy;> ,J mu;j;j 
Ks;s cw;gj;jpf; fpuaj;ij mspf;fpwJ.   

 Nke;jiyf; fpuaq;fs; nraw;ghl;bd; msTld; kl;LNk njhlu;GilaJ vdf; 
nfhs;fpd;w  ,ae;jpu  kzpj;jpahy cs;slf;f tPjk; my;yJ Copa kzpj;jpahy 
cs;slf;f tPjq;fis cw;gj;jpg;nghUl;fSf;F cgNahfpg;gJ mu;j;jkw;wJ 
vd;gjdhy;> ABC fpuatpay; nraw;ghLfSf;F Nke;jiyf;fpuaq;fis xJf;Ftjw;F 
gy;NtW fpua Xl;Ldu;fis cgNahfpf;fpwJ. ABC fpuatpay; mNefkhd 
Nke;jiyf; fpuaq;fs; nraw;ghl;bd; rpf;fy; jd;ikapdhYk;> gy;NtWufg; nghUl;f 
spdhYNk Vw;gLfpwJ vd;gjid czu;j;JfpwJ.    
 

 kpfTk; rpf;fyhd nra;KiwfSf;Fk;> juj;Jf;Fk; kpf Kf;fpaj;jtk; mspf;Fk;  
FWfpa cw;gj;jpg; nghUs; tho;f;ifr; Rw;Nwhl;lk; kw;Wk; tpupthd cw;gj;jp 
tPr;Rf;fSld; cw;gj;jpapd; rpf;fy;jd;ik mjpfupj;Js;sJ. ABC fpuatpay; mjdJ 
gy;NtW fpuaXl;Ldu; %yk; ,t; rpf;fy;jd;ikia milahsk; fhz;fpwJ.  

 
 ABC fpuatpay; Nke;jiyf;fpuaq;fis vJ nraw;gLj;JfpwJ vd;gjid njspthf 

tpsq;fpf;nfhs;s trjp nra;fpwJ.   
 

 Kfhikf;fzf;fpy; fUj;jpy; nfhs;fpd;w mjdJ ‘kuGuPjpahd’ njhopw;rhiy 
jsg;gug;G vy;iyfSf;fg;ghy; ABC fpuatpay; vy;yh Nke;jiyf;fpuaq;fisAk; 
ftdj;jpy; nfhs;fpwJ.   

 
 
 
 
 

(nkhj;jk; 10 Gs;spfs;) 
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tpil 05   
 
 

 
 nra;if 

 
(a) 

tUkhdj;njhopw;ghL 
= tpiy * njhif 
= (850 – 0.006X)* X 
= 850X ‒ 0.006 X2 

(b) vy;iy tUkhdk; = tUkhdj; njhopw;ghl;bypUe;J Kjyhtjhf tUtpf;fg;gl;l 
rkd;ghL  = 850 – 0.012 X 

 vy;iyf; fpuaj; njhopw;ghL = nkhj;jf; fpuaj; njhopw;ghl;bypUe;J Kjyhtjhf 
tUtpf;fg;gl;l rkd;ghL 
TC= 2,000,000 + 50X + 0.01X2            50 + 0.02X 

 vy;iyf; fpuak; =  vy;iy tUkhdk; Mf ,Uf;Fk;NghJ 
,yhgk; cr;rg;gLj;jg;gLk;; 
MC = MR  
                       850 – 0.012X = 50 + 0.02X 
                  -0.012X – 0.02X = 50 – 850 
                              - 0. 032 X = ‒800 
                                            X = -800 / -0.032  
                                            X = 25,000 
xU khjj;jpw;F cj;jk cw;gj;jp kl;lk; 25,000 nghk;ikfshFk;. 

 cj;jk tpw;gidtpiy; 
P = 850 – 0.006X 
P = 850 – 0.006*25,000 
P = 850 -150  
P = 700 
xU nghk;ikapd; Mff;$ba tpw;gidtpiy &gh 700 

(c) jw;Nghija cw;gj;jp kl;lj;jpy; nkhj;j ,yhgk;  
eilKiwtpw;gidtpiy = 
 P = 850 – 0.006 * 12,000 
 P = 850 – 72 
     = &gh 778 
jw;NghijatUkhdk; = 778 * 12,000                                                   = &gh 9,336,000 
jw;Nghijafpuak;        = 2,000,000+50*12,000+0.01(12,000)2 

                                           = 2,000,000 + 600,000 + 1,440,000 
                                                                                                                         = (&gh 4,0,40,000) 
jw;Nghija nkhj;j,yhgk;                                                                   =  &gh 5,296,000 

 cj;jk cw;gj;jp kl;lj;jpy; nkhj;j,yhgk;; 
Gjpa tUkhdk;  = 25,000 * 700                                                        = &gh 17,500,000 
Gjpafpuak;            = 2,000,000 + 50*25,000+0.01*(25000)2 
                                 = 2,000,000 + 1,250,000 + 6,250,000             =   &gh 9,500,000 
Gjpa nkhj;j,yhgk                            =  &gh  8,000,000 

 vjpu;ghu;f;fg;gl;l nkhj;j,yhg mjpfupg;G 
= Gjpa ,yhgk;  – jw;Nghija ,yhgk; 
= 8,000,000 – 5,296,000  
= &gh 2,704,000 
nraw;ghl;L tpupthf;fj;Jld; fk;gdpapd; ,yhgk; &gh 2,704,000 ,dhy; mjpfupf; 
fg;gLk; vd vjpu;ghu;f;fg;gLfpd;wJ.   

njhlu;ghd fw;wy; tpisT : 6.2.1 
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(d) 
 

 fk;gdpapdhy; tpw;fg;gl;l xt;nthU Nkyjpf nghUspdhYk; cUthf;fg;gLfpd;w 
Nkyjpf tUkhdj;ijf; (vy;iy tUkhdk;) fUj;jpy; nfhz;L cj;jk cw;gj;jp 
kl;lk; kjpg;gplg;gl;Ls;sJ.   
 

 Nkw;$wg;gl;l kl;lk; mjpfupf;Fk;NghJ> Nkyjpf nghk;ikia cUthf;Ftjw;F 
Vw;gLfpd;w Nkyjpf fpuak; Nkyjpf tpw;gidapypUe;J cUthf;fg;gLfpd;w Nkyjpf 
tUkhdj;ij tpl mjpfupf;Fk;.   
 

 ,j;jifa epiyikapy;;> fk;gdp xU khj cw;gj;jp ,aysit 25,000 
myFfspw;F Nkyhf mjpfupg;gpd;> cj;jk kl;lj;jpy; ehk; vt;tsT ,yhgk; 
cioj;NjhNkh  mjid tpl ,jpy; ciof;Fk; ,yhgk; Fiwthdjhf ,Uf;Fk;.   
 

 vdNt> fk;gdp ,yhgj;ij cr;rg;gLj;Jtjw;F fk;gdpapd; vy;iytUkhdk; 
vy;iyf; fpuaj;jpw;F rkdhf ,Uf;Fk; kl;lj;jpNyNa cj;jk cw;gj;jp kl;lj;ij 
jPu;khdpf;f Ntz;Lk;.    

 
 

 
(nkhj;jk; 10 Gs;spfs;) 
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tpil 06   
 

 

(a) 

(i) 

nra;if njhif/ msT njhif/ msT 

Njitg;gl;l cw;gj;jp  

xf;Nlhgu; 60%    14,400 
etk;gu;   40%      9,600 

  

%yg;nghUs; nfhs;tdTg;ghjPL A B 
tpw;gidf;fhf = 14,400*2        = 28,800 
                                 14,400*0.3    =   4,320 
       28,800 4,320 
el;lj;jpw;fhf = (28,800/0.96)*0.04  =  1,200 
                              (4,320/0.90)*0.1       =     480 
                      1,200       480 
khjj;jpd; cw;gj;jpf;fhd nkhj;jk;  30,000 4,800 

+ ,Wjp ,Ug;G   
                    [(9,600*2)/0.96]*0.25     = 5,000 
                    [(9,600*0.3)/0.9]*0.25    =    800 

                       5,000    800 
-  Muk;g ,Ug;G  
                   (30,000*0.25)     =  7,500 
                   (4,800*0.25)       =   1,200 
                    (7,500) (1,200) 
nkhj;j nfhs;tdTj; Njit  27,500 4,400 
mynfhd;wpw;fhd fpuak; (&gh) 50 100 
nkhj;jf; nfhs;tdTf; fpuag; ghjPL (&gh) 1,375,000 440,000 
nkhj;jf; fpuak;   &gh 1,815,000 
 

(ii) $ypf;fpuag;ghjPL 
 
tif nkhj;j 

kzpj;jpahyq;fs; 
kzpj;jpahynkhd;wpw;fhd 
tPjk; (&gh) 

nkhj;jf; fpuak; 
(&gh) 

miujpwd; 1.5*14,400 = 21,600 1,200/8  =  150 21,600*150  = 3,240,000 
jpwd; 0.5*14,400 =   7,200 1,800/8  =  225 7,200*225  = 1,620,000 
                         28,800                            4,860,000 
 

 
 
 
 
 
 
 
 
 
 
 
 
 

njhlu;ghd fw;wy; tpisT : 7.3.1 
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(b)  
 

fhRg; ghjPl;bd; cgNahfk; 
 

 tq;fpf;F MNyhrid toq;fy; my;yJ Nkyjpfg;gw;W Njitfis kjpg;gpl;Lf;nfhs;s 
my;yJ thbf;ifahsu;fs; tpiuthf nfhLg;gdit Nkw;nfhs;tij cWjpg;gL 
j;Jtjw;F fld; fl;Lg;ghl;L eilKiwfis ];jpug;gLj;jpf;nfhs;sy; Nghd;wtw;wpy; 
Kfhik Kw;$l;bNa jpl;lkpliy Nkw;nfhs;sf; $bathW jPu;khdq;fis vLf;f 
,aYfpwJ.    

 ,J epWtdk; cgNahfpf;ff;$bajhd xU kpfKf;fpakhd jpl;lkply; fUtpfspy; 
xd;whFk;. ,J  ghjPl;Lr; nra;Kiwf;Fs; Nkw;nfhs;sg;gl;l jpl;lq;fs; vy;yhtw;wpdJk; 
fhRj; jhf;fj;ijf; fhl;LfpwJ.  vdNt> ,jid jahupj;jy;%yk;>  jpl;lkplg;gl;l 
nraw;ghLfSf;F epjpapLtjw;F NghjpasT fhRtsq;fspy;iy vd ntspg;gLj;jpd;> 
ghjPLfis jpUj;jk; nra;tjw;F  toptFf;fpwJ.    

 Kfhikf;F cl;fpilahf vof;$ba gpur;ridfis Rl;bf;fhl;b mtw;iw jtpu;g;gjw;F 
vLf;ff;$ba nraw;ghLfis Nkw;nfhs;s re;ju;g;gq;fis mspf;fpwJ.    

 
 

 
(nkhj;jk; 10 Gs;spfs;) 
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gpupT 3 
tpil 07 
 
 

 
     

(a) 
 

myFfs; ngWkjp (&gh) 

(i) Muk;g %yg;nghUs;fs;                5,000                   2,000,000  

 

,f;fhyg; gFjpapy; nfhs;tdT 
nra;ag;gl;lit              95,000                 38,950,000  

 
nkhj;jk;            100,000                 40,950,000  

 
rhjhuz el;lk; (5%)  (5,000) 

 

 
vjpu;ghu;f;fg;gl;l ntspaPL              95,000  

 

 
cz;ikahd ntspaPL              93,000  

 

 
mrhjhuz el;lk;                2,000  

 
(ii) nra;Kiw 1 ,d; %yg;nghUs;fpuak; 

 
               40,950,000  

 
khw;wy; fpuak; 

 
               10,000,000  

 
nkhj;jnra;Kiwf;fpuak; 

 
               50,950,000  

 
fop: fopT tpw;gid (5,000*500) 

 
(2,500,000) 

 
nra;Kiw 1 ,d; nkhj;jf;;fpuak; 

 
               48,450,000  

 
vjpu;ghu;f;fg;gl;l ntspaPL 

 
                      95,000  

 
cz;ikahd ntspaPL 

 
                      93,000  

 
nra;Kiw 2 ,w;F khw;wg;gl;l ntspaPl;Lf; fpuak;                 47,430,000  

(iii) mrhjhuz el;lk; 
 

myFfspy; 2,000  

 
mrhjhuz el;lj;jpd; ngWkjp (&gh) 

 
                 1,020,000  

 
,Wjptpw;gid (2,000*500) (&gh) 

 
                 1,000,000  

 

jhf;;fk;/mrhjhuz el;lj;jpypUe;J 
Njwpa el;lk; (&gh) 

 
                      20,000  

(b) el;lg;gFg;gha;T (myFfspy;) 
  

 
Muk;g ,Ug;G              10,000  

 

 
nra;Kiw 1 ,d; ntspaPL              93,000  

 

 
,Wjp ,Ug;G (8,000) 

 

  
             95,000  

 

 
”u;j;jpaile;j ntspaPL              90,000  

 

 
rhjhuz el;lk;                5,000  

  
 
 
 

njhlu;ghd fw;wy; tpisT : 1.4.2 
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(C) rk myFf;$w;W 
 

 
 fpuak; (&gh) 

 
 

Muk;g eil 
Kiw Ntiy 

eilKiw  
khjk; 

nkhj;jk;  

 

Kd;ida nra;Kiwf; 
fpuak; 5,000,000 47,430,000 52,430,000  

 
Nru;f;fg;gl;l  %yg; nghUs; 600,000 5,966,000 6,566,000  

 
khw;wy; fpuak; 1,600,000 15,132,000 16,732,000  

  

  myFfs;   

  

”u;j;jp 
aile;jJ 

,Wjp 
,Ug;G 

nkhj;jk; mynfhd;W 
f;fhd 
fpuak; 
(&gh) 

 
Kd;ida nra;Kiwf;  
fpuak; 

90,000 8,000 98,000 535 

 Nru;f;fg;gl;l %yg;nghUs; 90,000 8,000 98,000 67 

 khw;wy; fpuak; 90,000 4,000 94,000 178 

 KbTg; nghUSf;fhd myFf;fpuak; 780 

 tpw;gid tpiy (40% ,yhg vy;iy) 1,300 

  

(d) ,Wjp ,Ug;Gf;fhd ngWkjp 

  
myFfs; ”u;j;jpaile;j 

tPjk; 
myFg; ngWkjp 

(&gh) 
ngWkjp 
(&gh) 

 

 
Kd;ida 
nra;Kiwf;fpuak; 

8,000 100% 535 4,280,000  

 
Nru;f;fg;gl;l  
%yg;nghUs; 

8,000 100% 67 536,000  

 khw;wy; fpuak; 8,000 50% 178 712,000  

 ,Wjp eilKiw Ntiyapd; ngWkjp 5,528,000  
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nghWg;G kWj;jy; mwptpj;jy; - Notice of Disclaimer 
 

,e;j tpilfs; Kw;WKOjhf ,yq;ifg; gl;laf; fzf;fwpQh; epWtfj;jhy; (CA Sri 

Lanka) jug;gl;Ls;sJld;> ,tw;iw khjpup tpilfs; vd;w mbg;gilapNyNa ePh; 
Vw;Wf; nfhs;fpd;wPh;.   

 

,it khjpup tpilfshf fUjg;gl Ntz;LNk jtpu rupahd / vjph;ghh;j;j 
tpilfshf my;y. 
  
,e;j tpilfs; ,uz;L mbg;gil Nehf;fq;fis nfhz;Ls;sd. mitahtd: 
  

1. guPl;ir tpdh xd;wpw;F khjpup tpilf;fhd tpgukhd cjhuzj;ij jUjy;@ 
mj;Jld;  

 

2. ghlj;jpy; khztupd; Muha;r;rp Nkw;nfhs;s mth;fSf;F cjTtJld;> 
ghlk; gw;wpa mth;fspd; mwpT kw;Wk; tpsf;fj;ij mjpfupf;f cjTtjhFk;. 

  
,yq;ifg; gl;laf; fzf;fwpQh; epWtfk; ,e;j khjpup tpilfs; njhlh;gpy; 
ve;jnthU cj;juthjj;ijAk; jutpy;iy Mjypdhy;> ,J njhlh;ghf ve;jnthU 
JaiuAk; ,e;j ,yq;ifg; gl;laf; fzf;fwpQh; epWtfj;jpw;F vjpuhf ePh; 
nfhz;LtUjy; mh;j;jkw;wJ. vdpDk;> ePh; ,J njhlh;ghf ,yq;ifg; gl;laf; 
fzf;fwpQh; epWtfj;jpw;F vjpuhf eltbf;if> Nfhupf;if> tof;F> mr;RWj;jy; 
my;yJ Nfs;tp vjidAk; vOg;gp mjpy; ePh; ntw;wpngwhj ,lj;J ,jdhy; 
epWtfj;jpw;F Vw;gLk; rl;lr; nryTfs; kw;Wk; vjph; eltbf;if njhlh;Ggl;l rfy 
nryTfisAk; ePh; gl;lf; fzf;fwpQh; epWtfj;jpw;F ePh; nrYj;j Ntz;Lk;. ,Nj 
tplaj;jpw;fhf ,yq;ifg; gl;laf; fzf;fwpQh; epWtfk; mjd; ,e;j 
cupikiaNah my;yJ ,jpy; tpgupf;fg;gl;Ls;s my;yJ ,yq;ifr; rl;lq;fspd; 
fPohd mjd; cupikfisNah cWjpg;gLj;Jtjw;fhf rl;l eltbf;ifis 
Nkw;nfhs;s fl;lhag;gLj;jg;gbd;> mjw;Fupa rl;lf; fl;lzk; kw;Wk; nryTfis 
ePh; ,yq;ifg; gl;laf; fzf;fwpQh; epWtfj;jpw;F nrYj;j Ntz;Lk;.    

 

© 2013 ,yq;if gl;laf; fzf;fwpQh; epWtfj;jpdhy; (CA =yq;fh).  
KOg; gjpg;GupikAilaJ. ,yq;ifg; gl;laf; fzf;fwpQh; epWtfj;jpd; vOj;J%y 
Kd; mDkjpapd;wp ,e;j Mtzj;jpd; gFjpapid kWgpuRuk; nra;tNjh my;yJ 
ve;j tbtj;jpYk; ,yj;jpudpa> ve;jpu> Gifg;glg; gpujpaply; gjpTnra;jy; kw;Wk; 
Vida Clfq;fspD}lhf mDg;GjNyh $lhJ.  
 

                                                  
                                                  

 
 
 

 


